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lines are congruent, show the lengths are equal
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Coordinate Geometry Proofs Guided Notes

Formula you should use:
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segments bisect each other, show‘@are the same
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When you are completing a coordinate geometry proof:
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BE NEAT! If I can’t follow your work, you will lose pomts.

Remember the diagram below:

Parallelogram \

Rectangle Rhombus

Square
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The table gives methods that can be used to prove a quad belongs to a specific category.

To prove a figureis a...

1. Parallelogram
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6. Isosceles trapezoid
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Show it is a trapezoid (see #5) and one of the followi
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1+ Triangle ABC has vertices 4(0,0), B(3,2), and C(0,4). The triangle may be classified as l
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2. Pa Ilelog am ABCD has coordinates A(l, 5) B(6,3), C(3,—-1), and D2(~2,1). What are the ordinates of
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